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Question 1

Question Type: MultipleChoice

A large corporation stones Orders and Line Items In Salesforce for different lines of business. Users are a.. see Orders across the entire
organization, but, for security purposes, should only be able to see the Line If Orders in their line of business.

Which type of relationship should be used between Line Items and Orders?

Options:

A) Master-Detail
B) Lookup
C) Direct Lookup

D) Indirect Lookup

Answer:

A

Question 2




Question Type: MultipleChoice

A developer is asked to explore if this automation can be implemented without writing any Apex code.

Which statement is true regarding this automation request?

Options:

A) This approval step cannot be automated and must be done manually.
B) The developer can use Einstein Next Best Actions.
C) The developer can use a record

D) The developer can use record triggered flow with Actions.

Answer:

C

Question 3

Question Type: MultipleChoice




A developer migrated functionality from JavaScript Remoting to a Lightning web component and ... existing getOpportunities method to
provide data.

Options:

A) The method must be decorated with (cacheable=true).
B) The method must be decorated with @AuraEnabied.
C) The method must return a JSON Object.

D) The method must return a String of a serialized JSON Array.

Answer:

A

Question 4

Question Type: MultipleChoice

Which two process automations can be used on their own to send Salesforce Outbound Message?

Choose 2 answers



Options:

A) Process Builder
B) Workflow Rule
C) Flow Builder

D) Strategy Builder

Answer:

B, C

Question 5

Question Type: MultipleChoice

A credit card company needs to Implement the functionality for a service agent to process damaged credit cards. When the customers
call In, the service agent must gather many pieces of information Is tasked to Implement this functionality.

What should the developer use to satisfy this requirement In the most efficient manner?



Options:

A) Flow Builder
B) Lightning Component
C) Approval Process

D) Apex Trigger

Answer:

D

Question 6

Question Type: MultipleChoice

What are two best practices when it comes to Lightning Web Component events?

Options:

A) Use event.target to communicate data to elements that aren't in the same shadow tree.



B) Use events configured with bubbles: false and composed:false.
C) Use CustomEvent to pass data from a child to a parent component.

D) Use event.detail to communicate data to elements in the same shadow tree

Answer:

A C
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